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•••• Ñi;k t k¡p dj ysa fd Hkk xHkk xHkk xHkk x–II ds bl iz'u-i= e sa e qfnzr i`"B 16 rFkk iz'u 40 gSaA 
 Please make sure that the printed pages in this question paper of Part-II are 16 in 

number and it contains 40 questions. 

•••• ijh{kkFkhZ viuk jksy  u a0 iz'u& i= ij vo'; fy[ksaA 

 Candidates must write their Roll Number on the question paper. 

•••• d`i;k iz'uksa dk mÙkj nsus lss iwoZ ;g lqfuf'pr dj y sa fd iz'u-i= iw.kZ o lgh gS] ijh{kk ds m ijkUr bl ijh{kk ds m ijkUr bl ijh{kk ds m ijkUr bl ijh{kk ds m ijkUr bl 
lEc U/k e sa d ksbZ Hkh nkok L ohdkj u gha fd; k tk;slEc U/k e sa d ksbZ Hkh nkok L ohdkj u gha fd; k tk;slEc U/k e sa d ksbZ Hkh nkok L ohdkj u gha fd; k tk;slEc U/k e sa d ksbZ Hkh nkok L ohdkj u gha fd; k tk;s xkAxkAxkAxkA 

 Before answering the question, ensure that you have been supplied the correct and 

complete question paper, no claim in this regard, will be entertained after 

examination. 

lkekU; fu nsZ'k  %lkekU; fu nsZ'k  %lkekU; fu nsZ'k  %lkekU; fu nsZ'k  %     

General Instructions : 

    (i)    lHk h iz'u vfuok; Z gSaAlHk h iz'u vfuok; Z gSaAlHk h iz'u vfuok; Z gSaAlHk h iz'u vfuok; Z gSaA     

        All questions are compulsory.    
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    (ii) lghlghlghlgh  mÙkj viu h mÙkj&iqfLrdk eas fy f[k,A 

        Write correct answer in your answer-book. 

1. 26 vkSj 91 d k e0  l0 v0 (HCF) gS % 1 

(A) 26  (B) 13 

(C) 15  (D) 91 

The HCF of 26 and 91 is : 

(A) 26  (B) 13 

(C) 15  (D) 91 

2. fu Eufyf[kr esa ls dkSu-lh la[;k ifjes; la[;k gS \  1 

(A) 18   (B) 36  

(C) 40   (D) 48  

Which of the following numbers is a rational number ? 

(A) 18   (B) 36  

(C) 40   (D) 48  

3. fu Eufyf[kr esa 156 dk vHkkT; xq.ku[k.M gS % 1 

(A) 2 × 2 × 3 × 13 (B) 4 × 3 × 13 

(C) 39 × 4 (D) 2 × 6 × 13 
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Which of the following is prime factorization of 156 ? 

(A) 2 × 2 × 3 × 13 (B) 4 × 3 × 13 

(C) 39 × 4 (D) 2 × 6 × 13 

4. HCF (26, 91) = 13 fn;k gSA LCM (26, 91) gksxk % 1 

(A) 13  (B) 172 

(C) 182  (D) 2366 

Given that HCF (26, 91) = 13, LCM (26, 91) will be : 

(A) 13  (B) 172 

(C) 182  (D) 2366 

5. f} ?kkr cgqin 1072
++ xx  ds 'kwU;dksa dk xq.kuQ y gS % 1 

(A) 10  (B) 7 

(C) 
7

10
  (D) 

10

7
 

The product of zeroes of quadratic polynomial 1072
++ xx  is : 

(A) 10  (B) 7 

(C) 
7

10
  (D) 

10

7
 

6. fu Eufyf[kr esa ls dkSu-lk chth; O;atd ,d cgqin gS  \ 1 

(A) 53/1
−x  (B) 6

1
2

+

x
 

(C) 2
1

++
x

x  (D) 675 2
+− xx  

Which of the following expressions is a polynomial ? 

(A) 53/1
−x  (B) 6

1
2

+

x
 

(C) 2
1

++
x

x  (D) 675 2
+− xx  
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7. f} ?kkr cgqin xx 84 2
+  ds 'kwU; gSa % 1 

(A) 4, 8  (B) 0, −2 

(C) 0, 2  (D) 4, 2 

The zeroes of quadratic polynomial xx 84 2
+ are : 

(A) 4, 8  (B) 0, −2 

(C) 0, 2  (D) 4, 2 

8. jSf[kd cgqin ax + b, a ≠ 0 d s vkys[k ¼xzkQ½ dks fdl çdkj n'kkZ;k tkrk gS \  1 

(A) ikbZ pkVZ (B) ljy  js[kk 

(C) ijoy; (D) n.M vky s[k 

By which type of graph a linear polynomial ax + b, a ≠ 0 will be represented : 

(A) Pie Chart (B) Straight Line 

(C) Ring  (D) Bar Graph 

9. ,d cgqin ftldh ?kkr 4 gS mlds vf/kd re 'kwU;d gks ldrs gSa % 1 

(A) 1  (B) 2 

(C) 3  (D) 4 

The maximum number of zeroes that a polynomial of degree 4 can have : 

(A) 1  (B) 2 

(C) 3  (D) 4 

10. le hdj.kksa 0111 =++ cybxa  rFkk 0222 =++ cybxa  esa 
2

1

2

1

b

b

a

a
≠  gS] rks fu Eufyf[kr e sa 

dkSu-lk l R;l R;l R;l R; gS \ 1 

(A) lekarj js[kk,¡ (B) çfrPNsnh js[kk,¡  

(C) laikrh js[kk,¡ (D) bu esa ls dksbZ ugha 
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In equations 0111 =++ cybxa  and 0222 =++ cybxa if 
2

1

2

1

b

b

a

a
≠ , then which 

of the following is true ? 

(A) Parallel lines (B) Intersecting lines 

(C) Coincident lines (D) None of these 

11. jSf[kd le hdj.k ;qXe x + y = 14 rFkk x − y = 4 e sa x dk eku gksxk % 1 

(A) 
5

1
  (B) 5 

(C) 
9

1
  (D) 9 

In the pair of linear equations x + y = 14 and x − y = 4, the value of x will be : 

(A) 
5

1
  (B) 5 

(C) 
9

1
  (D) 9 

12. jSf[kd le hdj.k ;qXe x + 2y = 4 rFkk 2x + 4y = 8 ds gy  gksaxs % 1 

(A) vf}rh; gy (B) d ksbZ gy ugha 

(C) vifjfer : i ls vusd  gy (D) bu esa ls dksbZ ugha 

The solutions of pair of linear equations x + 2y = 4 and 2x + 4y = 8 will  be : 

(A) Unique solution (B) No solution 

(C) Infinite many solutions (D) None of these 

13. fu Eufyf[kr esa dkSu-lk f}?kkr lehd j.k u ghau ghau ghau gha   gS \ 1 

(A) 0532
=−+ xx  (B) 092

=−x  

(C) 0232
=+− xx  (D) 03 2

=++ xx  
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Which of the following is not a quadratic equation ? 
(A) 0532

=−+ xx  (B) 092
=−x  

(C) 0232
=+− xx  (D) 03 2

=++ xx  

14. f} ?kkr le hdj.k 01032
=−− xx  dk fofoDrdj gS % 1 

(A) 40  (B) 49 

(C) 64  (D) 31 

The discriminant of quadratic equation 01032
=−− xx  is : 

(A) 40  (B) 49 

(C) 64  (D) 31 

15. A. P. : 4, 10, 16, 22 …….. dk lkoZvarj gSA 1 

(A) 6  (B) 4 

(C) −6  (D) 10 

The common difference of A. P. : 4, 10, 16, 22 …….. is.  

(A) 6  (B) 4 

(C) −6  (D) 10 

16. ;fn A. P. d k nok¡ in nan 23 +=  gS]  rks lkoZvarj gksxk % 1 

(A) 9  (B) 7 

(C) 5  (D) 2 

The nth term of an A. P. is given by nan 23 += , the common difference will be :  

(A) 9  (B) 7 

(C) 5  (D) 2 
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17. A. P. : 7, 13, 19 ……… dk nok¡ in gSA 1 

(A) 6n + 1 (B) 6n − 1 

(C) 7n + 2 (D) 7n − 2 

The nth term of an A. P. : 7, 13, 19 ……… is. 

(A) 6n + 1 (B) 6n − 1 

(C) 7n + 2 (D) 7n − 2 

18. ;fn a = 7, d = 3, n = 8 gS] rks na  dk e ku gksxk % 1 

(A) 21  (B) 14 

(C) 28  (D) 24 

If a = 7, d = 3, n = 8, then value of na  will be : 

(A) 21  (B) 14 

(C) 28  (D) 24 

19. A. P. : 3, 8, 13 ……… dk 11ok¡ in gksxkA 1 

(A) 150  (B) 50 

(C) 53  (D) 65 

The 11th term of an A. P. : 3, 8, 13 ……… will be. 

(A) 150  (B) 50 

(C) 53  (D) 65 
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20. A. P. : 2, 7, 12 ……… dk 10 inksa dk ;ksx gSA 1 

(A) 250  (B) 245 

(C) 260  (D) 280 

The sum of 10 terms of an A. P. : 2, 7, 12 ……… is. 

(A) 250  (B) 245 

(C) 260  (D) 280 

21. çFke 100 /ku iw.kk±dksa dk ;ksx gS % 1 

(A) 1050 (B) 550 

(C) 5050 (D) 5000 

The sum of first 100 positive integers is : 

(A) 1050 (B) 550 

(C) 5050 (D) 5000 

22. fcanq P(x, y) d h e wy fcanq O(0, 0) ls nwjh gS % 1 

(A) 22 yx +  (B) 2)( yx +  

(C) 22 yx −  (D) 22 yx +  

The distance between the point P(x, y) and origin O (0, 0) is : 

(A) 22 yx +  (B) 2)( yx +  

(C) 22 yx −  (D) 22 yx +  
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23. fcUnq P(2, 3) d h x-v{k ls nwjh gS % 1 

(A) 2  (B) 3 

(C) 1  (D) 5 

The distance of the point P(2, 3) from the x-axis is : 

(A) 2  (B) 3 

(C) 1  (D) 5 

24. fcUnqvksa (2, 3) o (4, 1) ds chp dh nwjh gS % 1 

(A) 18   (B) 12  

(C) 7   (D) 8  

The distance between points (2, 3) and (4, 1) is : 

(A) 18   (B) 12  

(C) 7   (D) 8  

25. fcUnqvksa (4, −3) vkSj (8, 5) dks t ksM+us okys js[kk[k.M ds e/; fcanq ds funsZ'kkad gSa % 1 

(A) 12, 2 (B) 4, 2 

(C) 6, 1  (D) 1, 13 

The coordinates of mid point of the line joining the points (4, −3) and (8, 5)   

are : 

(A) 12, 2 (B) 4, 2 

(C) 6, 1  (D) 1, 13 
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26. x-v{k ij fLFkr fdlh fcanq ds fu nsZ'kkad gksrs gSa % 1 

(A) (0, 0) (B) (x, 0) 

(C) (x, y)  (D) (0, x) 

The coordinates of a point lie on x-axis are : 

(A) (0, 0) (B) (x, 0) 

(C) (x, y)  (D) (0, x) 

27. ;fn 
3

4
tan =θ  gS] rks sin θ d k eku gksxk %  1 

(A) 
3

5
  (B) 

5

3
 

(C) 
4

5
  (D) 

5

4
 

If 
3

4
tan =θ , then the value of sin θ will be : 

(A) 
3

5
  (B) 

5

3
 

(C) 
4

5
  (D) 

5

4
 

28. sin 60° × cos 30° dk eku gS % 1 

(A) 
4

9
  (B) 

4

3
 

(C) 
16

3
  (D) 

16

9
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The value of sin 60° × cos 30° will be : 

(A) 
4

9
  (B) 

4

3
 

(C) 
16

3
  (D) 

16

9
 

29. ..........cossin 22
=θ+θ , fjDr LFkku Hkjsa % 1 

(A) 2  (B) −1 

(C) 1  (D) 
2

1
 

Fill in the blank : ..........cossin 22
=θ+θ  . 

(A) 2  (B) −1 

(C) 1  (D) 
2

1
 

30. fd lh o`Ùk ds y ?kq f= T;k[kaM dk {ks=Qy K kr dju s d s fy, lw= fyf[k,A 1 

Write the formula to find out the area of minor sector of a circle. 

31. fd lh o`Ùk dh f=T;k 7 cm gS] bldk ifje ki gksxk % 1 

(A) 44 cm (B) 44 2cm  

(C) 54 cm (D) 54 2cm  

The radius of a circle is 7 cm, the circumference will be : 

(A) 44 cm (B) 44 2cm  

(C) 54 cm (D) 54 2cm  

32. ,d 'kadq dh f= T;k 5 cm gS vkSj mld h fr;Zd Å¡pkbZ 7 cm gSA 'kadq dk oØ i`"B h; {ks=Q y gksxk % 1 

(A) 120 2cm  (B) 130 2cm  

(C) 110 2cm  (D) 100 2cm  
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The radius of a cone is 5 cm and its slant height is 7 cm. The curved surface 

area of this cone will be : 

(A) 120 2cm  (B) 130 2cm  

(C) 110 2cm  (D) 100 2cm  

33. f= T;k R okys o`Ùk ds ml f=T;k[kaM d k {ks=Qy] ft ldk dks.k p° gS]  gksxk % 1 

(A) 
180

p
 × 2πR (B) 

180

p
 × π 2R  

(C) 
360

p
 × 2πR (D) 

720

p
 × 2π

2R  

Area of a sector of angle p (in degrees) of a circle with radius R is : 

(A) 
180

p
 × 2πR (B) 

180

p
 × π 2R  

(C) 
360

p
 × 2πR (D) 

720

p
 × 2π

2R  

34. fd lh ?ku dh Hkqt k 4 cm gS] bldk vk;ru gksxk % 1 

(A) 64 2cm  (B) 64 3cm  

(C) 12 3cm  (D) 12 2cm  

The side of a cube is 4 cm. Its volume will be : 

(A) 64 2cm  (B) 64 3cm  

(C) 12 3cm  (D) 12 2cm  
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35. ,d ?ku kHk dh foek,¡ 4 cm × 5 cm × 2 cm gSa] bldk vk;ru gS % 1 

(A) 11 2cm  (B) 40 2cm  

(C) 40 3cm  (D) 11 3cm  

The dimensions of a cuboid are 4 cm × 5 cm × 2 cm, then its volume is : 

(A) 11 2cm  (B) 40 2cm  

(C) 40 3cm  (D) 11 3cm  

36. fu Eufyf[kr esa ls dkSu-lk e k/;d Kkr djus dk lw= gS \ 1 

(A) h
f

fc
n

l ×


















+

+

.
2  (B) h

f

fc
n

l ×


















−

+

.
2  

(C) h
f

n
fc

l ×


















−

+
2

.
 (D) f

h

fc
n

l ×


















−

+

.
2  

Which of the following is the formula to find median ? 

(A) h
f

fc
n

l ×


















+

+

.
2  (B) h

f

fc
n

l ×


















−

+

.
2  

(C) h
f

n
fc

l ×


















−

+
2

.

 (D) f
h

fc
n

l ×


















−

+

.
2  
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37. fu Eufyf[kr ckjE ckjrk caVu e sa cgqyd oxZ gksxk % 1 

oxZoxZoxZoxZ-vUr jkyvUr jkyvUr jkyvUr jky     0-10 10-20 20-30 30-40 40-50 50-60 

ckjac kjr kckjac kjr kckjac kjr kckjac kjr k     5 7 3 9 5 4 

(A) 0-10   

(B) 10-20 

(C) 40-50 

(D) 30-40 

In the following frequency distribution, the modal class will be : 

Class-Interval 0-10 10-20 20-30 30-40 40-50 50-60 

Frequency 5 7 3 9 5 4 

(A) 0-10   

(B) 10-20 

(C) 40-50  

(D) 30-40 
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38. fjDr LFkku Hkjsa % 1 

?kVu k "E" dh çkf;drk + ?kVuk "E ugha**  dh çkf;drk = ----------- gSA 

(A) 0  (B) 1 

(C) 2  (D) −1 

Fill in the blank : 

Probability of an event "E" + Probability of the event "not E" = …………. . 

(A) 0  (B) 1 

(C) 2  (D) −1 

39. fu Eufyf[kr esa ls dkSu-lh la[;k fdlh ?kVuk d h çkf;drk u ghau ghau ghau gha   gks ld rh \ 1 

(A) 2/3  (B) −1.5 

(C) 15%  (D) 0.7 

Which of the following can not be the probability of an event ? 

(A) 2/3  (B) −1.5 

(C) 15%  (D) 0.7 

40. 52 iÙkksa dh vPN h çd kj ls Q saVh xbZ ,d xM ~Mh e sa ls ,d iÙkk fud kyk t krk gSA yky jax d k ckn'kkg 
çkIr djus dh çkf;drk gksxh % 1 

(A) 
52

3
  (B) 

26

3
 

(C) 
26

1
  (D) 

4

1
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One card is drawn from a well shuffled deck of 52 card. The probability of 
getting a king of red colour will be : 

(A) 
52

3
  (B) 

26

3
 

(C) 
26

1
  (D) 

4

1
 

 

S 

 

 


